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10%1 1A 2% £ 40 REIE=F i
Tl 543| 5,430 M 543 1 1,086 [ 1,629 [
T2 597| 5,970 M 597 M 1,194 [ 1,791 M
SIRFMHILL LARFRRIART (25343 653| 6,530 [ 653 1,306 [ 1,959 M
T4 708| 7,080 [ 708 [ 1,416 [ 2,124 [
T i85 762| 7,620 H 762 M 1,524 [ 2,286
Tl 569| 5,690 [ 569 M 1,138 1,707 [
T2 626| 6,260 M 626 M 1,252 [ 1,878 1
AR LA ESIRERIARTE | B3 684| 6,840 H 684 H 1,368 [ 2,052
i 741| 7,410 M 741 [ 1,482 [ 2,223 H
T4 75 799 7,990 M 799 [ 1,598 [ 2,397
il 858| 8,580 M 858 M 1,716 [ 2,574 H
B2 950| 9,500 M 950 M 1,900 [ 2,850 M
SIRFRILL F6IRFRIRT (B33 1,040| 10,400 H 1,040 [ 2,080 M 3,120 M
T4 1,132] 11,320 M 1,132 [ 2,264 M 3,396 M
T/ i#5 1,225| 12,250 M 1,225 4 2,450 M 3,675 H
AL 880| 8,800 M 880 M 1,760 [ 2,640 M
T2 974| 9,740 H 974 M 1,948 [ 2,922 [
GIRFRILL ETHRERIA | B33 1,066 10,660 [ 1,066 [ 2,132 H 3,198 H
T4 1,161| 11,610 M 1,161 [ 2,322 M 3,483 M
T4 75 1,256 12,560 [ 1,256 2,512 M 3,768 M
AL 994| 9,940 M 994 [ 1,988 M 2,982 M
T2 1,102| 11,020 M 1,102 [ 2,204 M 3,306 M
TIRFRALL SRR (23 1,210| 12,100 M 1,210 [ 2,420 [ 3,630 M
i 1,319] 13,190 M 1,319 2,638 M 3,957 [M
T 75 1,427| 14,270 H 1,427 2,854 [ 4,281 H
Tl 1,026| 10,260 M 1,026 [ 2,052 [ 3,078 [
T2 1,137| 11,370 M 1,137 [ 2,274 H 3,411 [
SIRFILL_FOWFRIA | B/ 783 1,248 12,480 M 1,248 [ 2,496 M 3,744 H
T4 1,362| 13,620 M 1,362 [ 2,724 [ 4,086 [
375 1,472| 14,720 [ 1,472 M 2,944 [ 4,416 [
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10 LBl 2FI A REVE=E

AV BN (1) 1HIZHE +40| 400 [ 40 [ 80 [ 120 4
YRS BN (1) 1R Izo& +55 550 [ 55 [ 110 [ 165 M1
AR AERI T EZ AME |1 B ICOX +60| 600 FJ 60 M4 120 [ 180 [
SREEUCE N 1ENZ>E  (H2E%REET D) +200[ 2,000 [ 200 9 400 [ 600
FPERgRER LN (1) [1ENCS%  (A2EEREEST D) +150[ 1,500 [ 150 1 300 [ 450 [T
A PEtgRE R NG (1) |1ENZ>E  (H2RIZREST D) +160| 1,600 M 160 [ 320 M 480 M
KETEAACMIAE  [1AIEH>Z +50 500 [ 50 M 100 M 150 M1
BER R ARG | L H 120X +40| 400 M 40 M 80 M 120 M

EMREIMIAZ A ELTOVRWES  LIIZo%|  +200] 2,000 200 400 600
R T EAEREIM A ELCOBHE LIS +100] 1,000 E 100 E 200 E 300 S
i Asy—=2 M (D | 1ENZ2E (6 FIZIEIERELT2) +20] 200 H 20 [ 40 M 60 M
ApE-sedersy—=27 s (D | 1EC-SE (6 IZIEERELTD) +5 50 [ 5 10 15 M
[ — e 1RICoE - 94| -940 [ -94 M -188 [ -282 [
AR IR (8E) |FEicH»E - 47| =470 [ -47 1M -94 [ -141 [
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(HEAmAY) (HLATER)
10 1HaH 2EIam BE-H=Eil
FHEl 475 4,750 475 950 1,425
SRR LA b 4 R A i = hjz E E E E
FEX PR 526 5,260 [ 526 M 1,052 [ 1,578 M
FHEl 497] 4,970 497 994 1,491
ATEE S LA L5 I RS R = hjz E E E E
FEX P2 551 5,510 [ 551 4 1,102 [ 1,653 M
Tl 741| 7,410 741 1,482 2,223
SRR LA L 61 R A i = hjz E E E E
FEX P2 828 8,280 [ 828 M 1,656 [ 2,484
Tl 760| 7,600 760 1,520 2,280
G LA L 7R R = hjz E E E E
FEX PR 851 8,510 [ 851 M 1,702 [ 2,553 [
Tl 861| 8,610 861 1,722 2,583
TIFRET LA S R A i = hjz E E E E
FEX P2 961 9,610 [ 961 M 1,922 [ 2,883 [
Tl 888| 8,880 888 1,776 2,664
IR LA L 95 R = hjz E E E E
FEX P2 991 9,910 4 991 M 1,982 [ 2,973 [
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101 15144 2% a R IE=il
AN BINE (1) 1HIZH% +40] 400 40 M 80 M 120 M
AR Bh N (11) 1RIzH>X +55 550 [ 55 H 110 [ 165 [
SRR AR A AN |1 B IC DX +60] 600 [ 60 M 120 M 180 M
AR UEN R Ez>%  (A2[%[RELT2) +200[ 2,000 [ 200 [ 400 M 600 [
FeRgRER BN (1) |1Elc>E  (H2lIZRELT5) +150] 1,500 [9 150 [ 300 M 450 [
A pegrem B (D) |1EIC>%  (A2RIZRELETD) +160| 1,600 [ 160 M 320 M 480 1
KETEAACMIE  [1HIZ2X +50] 500 [ 50 [ 100 M 150 M
BHER I EHEE RN [1 A oo & + 40 400 M 40 M 80 [ 120 [
o EBSREIHNE 2 B EL T ARNES  LAICoX +200] 2,000 [ 200 M 400 M 600 [
ATERERE A RS NS (1T) -
RN E A EELCOBEE  LHICHE +100| 1,000 [ 100 M 200 M 300 [
Az —=2rmeE (D |1ENCoX (6 IZ1EERELT ) +20] 200 [ 20 M 40 [ 60
AR eas)—=r 7 () [1ENZHSX (6 IZ1EIEREEELT5) +5 50 9 5 M 10 4 15 [
Al — & Is A 1HIZOX -94 -940 [ -94 [ -188 -282 [
PR IR A (38) [Elc o - 47| -470 [ 47 M -94 [ -141 [
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